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SENTENCE
IMPROVEMENT




1. He would be like to have some

ice-cream.
(1) would like to
(2) would be liked to

(3) was to be liking to
(4) would being liked to

Option (1) would like to



2. His behavior with all his employees is
so pleasing that everyone come
forward for helping him.
(1) came towards him for help
(2) comes towards him for help
(3) comes forward to help him

(4) comes forward for help him

Option 3



3. The police commissioner burst into rage
and ordered immediately suspension of the
inspector.

(1) order immediately

(2) order immediate

(3) ordered immediate

(4) ordering immediate

Option (3) ordered immediate



4. A master should never impose his
servants to much work.

(1) his servants with too much work

(2) to much work with his servants

(3) too much work on his servants
(4) to much work for his servants

Option (3) too much work on
his servants




5. A lot depends on your early
brought up in the family.
A. bringing up

B. bringing on

C. upbringing

D. No Improvement

Answer: 3)
upbringing



6. It took a long time for him
to realise, what was truth?

A. whatis truth?

B. what the truth was.

C. what was the truth?

D. No improvement

Answer: 2)
what the truth was?
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7. If one works hard, you have
got rewards.

A. one gets

B. one has got

C. one will get

D. No improvement

Answer: 3) one will get
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8. The fact finding committee
has so far not made any
advancement.

A. stride

B. Iimprovement
C. progress

D. No improvement

Answer: 3) progress




Iy

FILLERS



9. As he got older his
belief in these principles

did not .
A) wither
B) shake

C) waver
D) dither

Correct Answer: A




8. Rials .............. at speaking
languages.

It is difficult to ............ only
one puppy for animal shelter.

A) adept, adapt
B) adapt, adapt
C) adept, adopt
D) adapt, adopt

Correct Answer: C
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The question below consists of a
set of labelled sentences. Out of
the four options given, select the
most logical order of the
sentences to form a coherent
paragraph.



Q11. P: It would be better to speak of uniformities of nature.

Q: Law of nature are not commands but statements of
facts.

R: This would do away with elementary fallacy that a law
implies.

S: The use of the word law in this context is rather
unfortunate.

(a) QSRP (b) SQRP —
(c) QSPR (d) SQPR IM'

Ans.(c)




Q12. P: When the game of life is finally over there is no
second chance to correct our errors.

Q: Time is the greater equalizer of all mankind.

R: Time offers opportunity but demands a sense of
regard.

S: It has taken away the best and the worst of us

wrisa)

without regard of either.
(a) QSRP (b) RSQP
(c) PQRS (d) RSPQ

Ans.(a)




Q13. P: It has been the handmaid of the ruling class.

Q: Therefore, ever since the dawn of civilization,
persons in power have always tried to supervise or
control education.

R: Education is an instrument which imparts knowledge
and therefore, indirectly controls power.

S: Itis an old saying that knowledge is power.

(a) SQPR (b) PRQS

(c) SRQP (d) PSQR

Ans.(c)




Q14. P: This is despite the fact that there is a rampant
migration of rural families to urban centers.

Q: Generally the gains of being a unit of the urban
population are less than the disadvantages and risks
that are inbuilt in the urban life.

R: Rural population still dominates the urban population

as far as the number is considered.
S: Indiais a country of villages.
(a) QRSP (b) RPQS
(c) SRQP (d) QPRS
Ans.(c)
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15. They will have completed the work by the time we get
there.

(a) The work will be completed by the time we get there.

(b) The work will have been completed by the time we get
there.

(c) The work will have completed by the time we get there.

(d) The work will have been completed by the time we have

got there.
Option b




16. He has written a poem which fascinates every one.
(a) A poem has been written by him which fascinates

every one.
(b) Every one is fascinated by the poem which has been

written by him.
(c) Poem written by him fascinates every one.
(d) Every one fascinates the poem which is

him.

wtten bi

Option b



17. Will those happy days be ever forgotten by me ?
(a) Will | ever forget those happy days ?

(b) Shall | ever forgot these happy days ?

(c) Would | forget these happy days ?

(d) Ever shall | forget those happy days ?

Option a




18. You are requested to
permit him.

(a) Please permit him.

(b) | request you to permit me.

(c) He requests to permit him.

(d) | plead you to permit him.

Option a



DIETECITION]




19. The student came to the classroom
(a) / lately and was punished (b) / by

the teacher (c) / No error (d)

(b) Replace ‘lately’
by ‘late’
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20. She had barely nothing (a) / to
eat when she came (b) / to me
last month. (c) / No error (d)

(a) Replace ‘nothing’ by
‘anything’
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It had been too cold (a) /
the whole month and we
preferred (b)/ to stay in the
plains (c) / No error (d)
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' Home Work Answer

—/

Find the Antonym VIRTUOUS
A. Wicked

B. Corrupt

C. Vicious

D. Scandalous
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